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About regular hexagon.

Houitusyazi... It’s says that when a length of a regular hexagon’s side is 27 , its diagonal line is 15k,

When one side length of a regular hexagonal-shaped is 15"?(30 cm),houkei (a length of a perpendicular line which was pulled out
of one side where | face each other) is 1sehakuzsunn3zhunn)ri (51 96cm) . Houkei is twice as long as the height of the equilateral
triangle which one side is 15hak (30¢m), 8sunngbugri(25.98cm). And this regular hexagon’s kakukei (diagonl) is 2% (60cm).The length
is twice as long as the side of equilateral triangle length like the point.If you put together these six triangles, it become a regular
hexagon(3¢1).

And when a length of an equilateral triangle’s one side is 3sh%(90cm), if you divide one side which into three equally, the length
becomes 1%h2¥(30cm).A regular hexagon which has this length(30cm) is just fit in the equilateral triangle. (3¢2)

I’m going to explain the way to draw a regular hexagon. First, draw an 19 (30cm) straight line. Second, draw a 1sehakuzsunn3hunn)ri
(51.96¢m) perpendicular from the earlier line’s end. Third, draw a 2% (60cm) straight line between these lines. Then, you can
draw a triangle(3%3). Please draw some these triangles in same way and combine them. Look!! This is a regular hexagon!! If you use
this way, you can draw a regular hexagons whatever you like(3¢4).

We can also say what such as the followings. First, divide a circumference into 6parts by its radius evenly and mark each point on
the circle.And draw line to connect each point, so that you can draw a regular hexagon. Second, when you put six 192 chords on
the inside of a circle whose diameter is 22 | you can draw a regular hexagon. Third, a diameter of the circle inscribed inside a
regular hexagon and the regular hexagon’s houkei is equal.

About putting some diagrams into a hexagon of all side is 1/°* (300cm) .

*When you draw a triangle into a regular hexagon, and the triangle’s all apex and the hexagon’s three corners overlap each other,
the one side of the triangle is as long as houkei of the hexagon.(3¢5)

-When each triangle’s apex locate in the middle of the hexagon’s side (3%6), the triangle’s side is 1/ 5shaku (450cm).

-if you six same size circles into the regular hexagon, the circle’s diameter is 5shakuzsun7bu3ri (173 19cm).

This circle touch all side of the one of the equilateral triangle which | divided this equilateral hexagon into six,and one side is 1i°v,
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And if you square a length of a regular hexagon’s side and multiply 2.598, you may know the area of the regular hexa%on
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We found that ancient person led answer by seeing the
question from various perspectives. We have to deal with the
question one by one because there weren’t rule and formula
like present-day Japan. We should have will to want to know
about math.
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We have ignorance of understanding about modern
translation and mathematical contents. So we want to learn

them more deeply. mathematics in this research of wasan.
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At first, we felt lost to translate the original into modern translation, to
understand its mathematical contents, to translate it into English, and to report
everyone about it. We experienced them for the first time. However, we could
discover new things by learning deeply, and we were attracted interest of wasan.
I thought that wasan had been in fashion because those who have gone before
us had known its interest. In our time, we learn unified formulas and solution in
our classes. So | think we often see mathematics from only one point of view.
However, we could find that broadening our math horizons was attraction of
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Equilateral hexagon’s area is S, and the length of its one side is a.
When you divide the equilateral hexagon into 6 parts, you make
6 equilateral triangle(38).

The equilateral triangle’s area is S'. S is sixth times as large as S’ .

S'=ax (V3/2)ax1/2
=(vV3/4)a?

S=(v3/4)a2 X 6
=(3v3/2)a?

When V3 transpose 1,732, this formula,(3v3/2)a2 become 2.598 X a2,
Using this thought that multiply square of one of the equilateral
hexagon’s sides and 2.598 together, find the area of equilateral
hexagon.

In addition, this formula is almost same the moral formula.
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